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General Instructions: -
> Pol 40 T g
Total number of questions is 40.
> T gl & I AT g
All questions are mandatory.
> IA% N & fow e 3w [UiRa g
One mark is assigned to each question.

> Udd 9 & IR ddhed U v 1 TEr [Ahed o1 g Hifav|

There are four options for each of the questions. Choose the correct

option.
> JIId 39X & foIU SIS 37 T81 e AT

There is no negative marking for wrong answer.

1. 3¥cgaear T fFhg THEIAT FT T 3cUTea T doheilsh & Idd d §7

Which problem of an economy is related to the choice of technology of

production?

(a) T 3cUTGsT HL? (b) Thaeiy AT F 3cTeaT H1?
What to produce? In what quantity to produce?

(c) FA IcUTeeT H? (d) frae foIT 3cdTeaT HL?
How to produce? To whom to produce?
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2. Tl IUARICAT HRhdA Bl 8, ST AT ST T AT ......... g gl

Total utility is maximum when the value of marginal utility is.........

(a) = (b) FTTcHS
Zero Negative
(c) YellcHA (d) gedaH
Positive Minimum

3. GAAD: U 3Grladr a% axar &-

Generally, an Indifference curve is -

(@) TR (b) U’ 3T T
Circular shaped ‘U’ shaped

(c) Ao foeg &1 3R 34 (d) el foeg & 3R 3rac
Convex to the origin Concave to the origin

4. THATT: UHh AT dh $HT ool gl g-

Generally, the slope of a demand curve is -

(a) Geilcaeh (b) FOTcHS

Positive Negative

(c) 9Bl ellcHs T FHUTcHS (D) Ygr FUMcHS T ElcHS
First positive, then negative First negative, then positive

5. Ueh {Xcl YW AT Gsh & AT foeg W AT &I HAT T ... giar g1

The price elasticity of demand at midpoint of a straight-line demand curve

£ J—

(@) [T (b) T

Zero One

(c) T & 3HfAh (d) Tk & FH
More than one Less than one

6. =T & O TFT I &1 IHR Seer U PR FT giaT 872

Which of the following curve is inverted ‘U’ shaped?

(a) 3frEd & amerg (b) 3frEd aRadr smTd
Average fixed cost Average variable cost
(c) AT ot (d) 3iad 3carg
Marginal cost Average product
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7. 3cUlGe Heled Q = AL*KP & dA &1 wfdwel 61 AT g-
The measurement of returns to scale in production function Q = AL*KP is-
(@) a+p (b) a—8
(C)axp (d) a/B

8. S WIAIT oeTd, 3 oeTd & A gl §, I« 3 ad oerd-

When marginal cost is less than average cost, then the average cost-

(a) Tedr &l (b) FgFAIH B T
diminishes becomes minimum
(c) Secr B (d) iferras g &

increases becomes maximum

9. 3cUTesT HT AT H IRadT el W R dRtd F aRkddd 18T 8idr 87

Which cost does not change with the change in output?

(a) 3iraa R g (b) 3iraa aRadt drera

Average fixed cost Average variable cost
(c) HHATT ot (d) Fel TR faTd
Marginal cost Total fixed cost

10. F=faf@a & @ g T9R & T B HIHAT-EIRS gidr £?

In which of the following market structures, a firm is price taker?

(a) TEITRIR (b) TR ST
Monopoly Monopolistic Competition
(c) ot wfaanfarar (d) 3reuTfgrsr

Perfect Competition Oligopoly

11. T qUITGART $oF & dgee & T et 7§ & S @1 AT TEr §7
Which of the following option is correct for equilibrium of a firm in perfect
competition?

(@) MR = MC (b) MR -MC =0
(c) MR=MC = 1 (d) 3 & T (All of these)
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12. frfaf@d afeT @ qfd & o & 7 AT $ AT g §7?

Which value of elasticity of supply is measured by following diagram?

(Price)

O A qff (supply) X

(@) Y[ (b) TH T FHA
Zero Less than one

(c) T ¥ A+ (d) T

More than one One

13. AT Y oM A TRl a&g T gfd X a1 ge7ra g 872

What is the effect of lumpsum tax on supply of a goods?

(a) it T g e & (b) gt & gefer g1l &1
Supply diminishes Supply increases
(c) qict 3raRafda wEdr & (d) 9ft == & e gl
Supply remains unchanged Supply becomes zero

14. 3 ST FA TGl W, fohdll a&g &1 Al # gefe g @ Tl Told I a0
JHTT GIIT?
Other things remain unchanged, what is the effect of increase in demand of
a goods on market equilibrium?
(a) FeeT Fd F FA TE HqeT AT F g @M
Equilibrium price will decrease and equilibrium quantity will increase.
(b) HJeleT HIHAT H &It T HJole AT H HAT gl
Equilibrium price will increase and equilibrium quantity will decrease.

(c) TJeled HIAT Td A=l AT H Jefer gl

Equilibrium price and equilibrium quantity will increase

(d) IJT FAT U TJeled AT A FHeAr gl
Equilibrium price and equilibrium quantity will decrease.
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15.

16.

17.

18.

eIy AT @1 Ui A HAd A ggia g 8-

If there is excess of demand then the price tends to

(a) Y gl &I (b) Fefer gt &
Fall Increase

(c) YT B A (d) 3raRafdd @ &
Be zero Be unchanged

anfoera fd i Rufa @ § oo
There is excess of supply, when-
(@ b>S (b) D<S
(cgb =8 dD=8=0
*STgI D = HATI(Demand) 3T S = tIj?’f(SuppIy)
3T I A o W, Rl a8 1 qfd A el g § TR ol TR F1
JHTG gIT?

Other things remain constant, what is the effect of decrease in supply of a

goods on market equilibrium?

(a) HJelel HIHAT H HHAT Ud Tell AT H Ferer gl

Equilibrium price will decrease and equilibrium quantity will increase.
(b) Tt HIAT H J&& UG HJeT A F FAT e

Equilibrium price will increase and equilibrium quantity will decrease.

(c) TcleleT AT T Holel AT H i gl

Equilibrium price and equilibrium quantity will increase.

(d) HJelel HIAT U Tcelel AT H el gl

Equilibrium price and equilibrium quantity will decrease.

THIURR H HRTH Fel EH & 3cUled TR TR a&] A AT HT HIAT o
feraetr giedr 872

What is the price elasticity of demand for a goods at production level of

maximum total revenue in Monopoly?

(@) 0 (b) 1
(c) 1 4 &H (d) 1 & &=+
Less than 1 More than 1
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19. AR H [aohdr3it &1 fordell &A1 gl 87
How many sellers are there in duopoly?
(a) 1 (b) 4
(c) 3 (d) 2
20. T A fhg SO A fAiéIehd &3l & 3cdiest gidm 872

In which of the following market differentiated goods are produced?

(a) TR (b) TR Ry
Monopoly Monopolistic competition
(c) quT wfaanfarar (d) gH & @i
Perfect competition All of these

21. G Slelel LA 3T SFCAiSHeC Foeclec UUS Hell' #lHe Jecsh & e hiel §7?

Who is writer of the book ‘The General Theory of Employment, Interest and

Money’?

(a) 37eths AT (b) TsH TAY
Alfred Marshal Adam Smith

(c) 3. TH. &od (d) S T, T
J.M. Keynes J. N. Keynes

22.GDP 3R NDP # &1 d«¥ g?
What is the relationship between GDP and NDP?

(@) GDP = NDP - #HcJerd (b) GDP = NDP x #HeJgr™
GDP = NDP - Depreciation GDP = NDP x Depreciation

(c) GDP = NDP + #HeJerd (d) NDP = GDP + Hedgrd
GDP = NDP + Depreciation NDP = GDP + Depreciation

23.ﬁmﬁﬁmaﬁ$ﬁﬂﬁwﬁﬁ§wmm?ﬁaﬁ%?

Wheat is an intermediate goods in manufacturing of which of the following

goods?

(a) =TT (b) forege
Chapati Biscuits

(c) 88 (d) 377 & @il
Breads All of these

6|Page



24. €T 9§ GDP & avlell # e & @ 68 AQ & Hed & aiAe A& fhar

25.

26.

27

SITTATT?

Which of the following item is not included in the calculation of GDP in a

year?
(a) 1S FR & Ao (b) YgFd FR FI by Feg
Value of a new car Selling price of a used car
(c) Rreter 1 RA&IT ek (d) S5 & Ho

Tuition Fee of a teacher Value of Breads

fArfaf@a #& @ fa [fg & S & aurar Hr s awdr 872

GDP can be calculated by which of the following methods?

(a) HeI a:c{f*ET fafer (b) 3 fafer
Method of value addition Income method

(c) o afer (d) 348 & |l
Expenditure Method All of these

Tl 2016 & fohv a0 FAANROT & fhd Hed & alc Al I6IR Teeled & STgT fohar
IgT UT?
In the demonetization done in 2016, Which denominations of Currencies was

taken out of circulation?

(a) 50 F9 TF 100 TG (b) 100 T Td 500 FI
50 and %100 2100 and %500

(c) 500 FT¥ TG 1000 FTI (d) 500 T TE 200 TR
3500 and 21000 500 and 2200

o= # i a1 v w1 Feg S v AgT §2

Which of the following is not the function of a central bank?

(a) HaT feTHeT (b) &r@ fAT=0T
Note Issuing Credit control

(C) STeTdT & STAT TR el (d) THR & S
Accepting deposits with public Bank of governments.
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28. IR HT Teh FoolT Seb g-

The central bank of India is-

(a) HRAT €T dF (b) Tego d& 3w sf3ar
State Bank of India Central Bank of India
(c) AR Rad 6 (d) S 37T sf3ar
Reserve Bank of India Bank of India

29. feAfafld & we@ O AaT @i & 82
Which of the following is the most liquid money?
(@) M, (b) M,
(c) M, (d) M,
30. 39T Bl C = A + bY & 9@ 3gsieT &-

The induced consumption in the consumption function C = A + bY is --—--

(a) A (b) b
(c) C (d) bY
31.MPC + MPS = ...............
(a) 0 (b) 2
(c) 1 (d) oo

32. [T @Ry # w@raa fFaer $ir 3a@r &

What is the line of autonomous investment in the following diagram?

Y F
3'q3:|.|3l B
Uq
foaer
(Consumption E
And C D
Investment) A /
O 3T (Income) X
(a) AB (b) OX
(c) CD (d) EF
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33. fopdl 3rdiegaeyr & Ifg MPS = 0.4 § @ 30T &I HIeT F37 glan?

If the value of MPS in an economy is 0.4, then what will be the value of

multiplier?
(@) 1 (b) 0.4
(c) 0.6 (d) 2.5

34. AFT H O YcTeT Y HI Th 3EIgI0T il AT oTal &7

Which of the following is not an example of direct tax?

(a) 39ER & (b) HufT &
Gift tax Wealth tax
(c) 9&J T4 @aT (d) 3T

Goods and Service tax Income tax

35. et # @ WIdoIleieh aE] 1 Teh 3ETEIUT hiel AT §7

Which of the following is an example of public goods?

(@) R (b) A=
Car Road
(c) deheie (d) =dsT

Chocolate Clothes

36. T_d H GST & oe[ fohdm a1aT?
When was GST implemented in India?
(@) 1991 (b) 2016
(c) 2017 (d) 1947
37. U1 &0 UG I[SIEd TIeadr & 3Hdl Sl FAT gl oAl g7

What is the difference between Revenue expenditure and Revenue receipts

called?

(a) TSTRINT °1eT (b) wrafaAs @rer
Fiscal deficit Primary deficit

(c) egMR drer (d) TSTET grer
Trade deficit Revenue deficit
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38. SUIR Hclelel FAT g7
What is Balance of Trade?
(a) 3mara 3R AATa &1 iR (Difference between Imports and Exports)
(b) Tt 3R 3maTa &1 37X (Difference between Exports and Imports)
(c) 3mard 3R 33T &1 Ier (Sum of Imports and Exports)
(d) g 3R 3mara #ir quTA%hel (Product of Imports and Exports)
39. If¢ FIg AR fheT Al AlGTSer FUAT HF TWAGAT § dl 3 olel-Gol I HRA &
AT Hlolel H el o TohdT STTIM?

If an Indian buys a Chinese mobile company, where will this transaction be

entered in India’s balance of payment?

(a) °Te] @Id & sfdec #Ag A (b) @Te] WA & shisc A A
In debit of current account In credit of current account
(c) 7 WY & 3fc wg (d) o Ty ¥ e #ig oF
In debit of capital account In credit of capital account

40. fAFifaf@d & @ @l @1 A 3Tl HJelel & T Wi &I Teh HEh §7?

Which of the following item is a component of current account of balance of

payment?

(a) JcaT fader (b) Tacely =or
Direct Investment Foreign debt

(c) facehr wergar (d) a¥q3t & forafe
Foreign aid Exports of goods
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¥ SectAI3ue gdieT - 2023
Aol 9 97 (Awafeiss)

et - 12 fawar - 3rdemes FHAT- 1:30 °¢ quiieh- 40

AT fder-:
> et JUEHT A9 el H I QST
> Pol =T dr wEdr 19 gl
> U HEIT 1§ 7 deh i TSI 9T &1 51 @ Tl arar geal &
3T TS QUG IT U aIFT H GITAT| Ul U & AT 2 3 FuiRa &
> 9 HEAT 8 § 14 ddh g-3a8T Ul g1 fohedl o Radl 1 36}
3ifad 150 eear # &IfAT| 9 99T &1 AT 3 3 fuiRa g
> U TEAT 15 ¥ 19 o QU-3a0T U &1 598 & fheel oiel uar &
3R ATSdA 250 glee) # GISIT| Tcddh IR &I Al 5 3 TuiRd g
@s-A AT 9o
Section-A Very Short answer type questions.
frAtaiad # & fhegl 919 URaAt & 3% Gitoig| (2 31 * 5
Answer any five from the following questions. (2 Marks * 5

1. <O 3Pemed & aRANa HifSv]
Define Micro economics.
2. §OIR & 3T FAT THAST 87
What do you mean by Market?
3. THIfgER &1 H1I faf@v|
Write the meaning of Monopoly.
4. UHITUSR H HAT U9 AT ARG & ST HAT G giar 872
What is the relationship between Price and Marginal cost in the Monopoly?
5. 3 Tl ¥ 3T FAT FASIT 8§72 3&eI0T U]
What do you understand by Economic agents? Give examples.
6. TIPRT Folc T 3T FAT THSIA 57
What do you mean by Government Budget?
7. AET-UIAEAYT F FIT 09T g7

What is meant by Import substitution?

10 37h)
10 Marks)
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@s-B g A

Section-B Short answer type questions.

fFfafaa & O gl 9igr w2t & 39X §fSv) (3 3/ + 5
Answer any five from the following questions. (3 Marks * 5
8. el T & AT P THTTAT A aTel HRehi T AT HfAT|
Explain the factors affecting demand for a goods.
9. eUdlelled 3cUIGsT Woled U GIEdhleile] 3cdlGel Holel H 3 TISe HIfov|

Differentiate between Short run Production Function and Long run Production

15 37h)
15 Marks)

Function.
10.96IR & AfFadr &1 aofa Hifae
Explain the Powers of Market.
11, 3TT T 0T T 3c4TG AT T g hIToiv|
Explain Product Method of calculating National Income.
12,71 & fohegl diel HET HRET & oo HIFST|
Mention any three main functions of the Money.
13.953 ART & gcahl &l ofau|
Write the components of Aggregate Demand.
14,97 MPC &1 &TeT 0.75 8, @ 9[0T &l HT Al Hav|

If the value of MPC is 0.75 then calculate the value of Multiplier?

@s-C &Y 3adiy  wed

Section-C Long answer type questions
fafof@a & O fFdl I ueal & 3R QAT (5 37 + 3 = 15 3i®)
Answer any three from the following questions. (5 Marks * 3 = 15 Marks)

15.fAFATaf@d arferssr & AT A1 FrAag T Hr v Hifav]

Calculate the price elasticity of demand from the following table.
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=g 1 FHS (Price of goods) a¥J I AT AT (Quantity demanded)

20

30

(3X- -2.5)
16. €A 3cutg 3R 3 3cqie H HaY I <IrEdn fhfaiv|

Explain the relationship between Marginal Product and Average Product.
17.997 SfAAIRIar & Ueh o ol Aol T sarean i)

Explain the equilibrium of a Firm in Perfect competition.
18.PFafaf@a st & e Hea gefar &1 avEr ffsw

Calculate Net Value added from following data

(@ ¥4 #) (Lakh Rupees)

a) AT (Sale) 200
b) &Td #HTel &I %I (Purchasing of Raw material) 50
c) 3ifas ¥eie (Final stock) 15
d) URfFH® T (Initial Stock) 10
e) 3dd ﬁl"\\—r'l’r T 39819T (Consumption of Fixed capital)) 10

(3R - 145 oM@ ¥9)

19.79g7 &1 qfd & Fa1 ey 87 HRA Refd d & g@Ry eI #Hgr & qfcd &
dpfeus AT I gReMNT AT (1+4)

What is meant by supply of money? Define the alternative measures of

supply of money published by Reserve Bank of India.
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